Gi-Mda-lesson 23

1. Fill in the blanks, and match the pairs that show the same amount.

| can match these pictures because they both show 32. 3 tens
2 ones is equal to 2 tens 12 ones. if | bundle 10 ones in the
picture on the right, it would have 3 tens Z ones.

(P R P
EE@[ UEIRPN gggg{? A2
- /::“—é‘-\\‘"'g S . 'EE\:! J
) &
o)
T 3 tens 2 OhES ONES 2 tens 12 ones

2. Match the place value charts that show the same amount.

The place value chart shows how many
tens afid ones. It's okay to have moré
than 9 in the ones. 2 tens 15 ones is 35.

tens | ones
3 7
tens | ones
4
T tens 7 ones is the same as 37 2 15
ones. | can unbundie the 3 tens,

which makes 30 ones. taddthe 7
ories, and now | have 37 ones.
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3. Emisays 29isthe saméas 1 ten 19 ones, and Ben says 29 is the same as 2 tens 19 onss. Draw guick tens
to show if Emi or Ben is correct.
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One straight tine is a quick ten. | draw 1 quick
tenand 19 ones for Emi’s drawing. 1 draw 2
quick tens and 19 ones for Ben's drawing.

Emi Is correct becouse 1 ten 19 ones is the same ue 29, Ben §s not correct becouse 2 tens 19 anes i
fhe some a5 39, which s ot 29,
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